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DDiirreeccttiioonnss:: Read the passage below. Then answer questions about errors in the passage. 

    

                                                                           

           The view of star formation offered by the Spitzer Space Telescope is one of 1) disruption through 

the telescope’s lens, it can be seen that the creation of a star disrupts nearby space. The Spitzer Space 2) 

Telescope launched in 2003 contradicts the widely held 3) thinking that mellifluous gas clouds gracefully 

4) provide the creation of new stars. Early models of star 5) making concentrated on the evolution of 

isolated stars, whereas recent models have recognized that stars 6) interact with the other in their stellar 

neighborhood. The relative 7) low count of the stars 8) were attributed to the turbulence that these 

processes bring to the heavens.  

1)  

A. disruption.  

B. disruption: 

C. disruption,  

D. disruption - 

E. Correct as is 

 

2) 

A. Telescope, launched in 2003 

B. Telescope launched in 2003, 

C. Telescope, launched in 2003, 

D. All of the above are correct 

E. Both A and C are correct 

F. Both A and B are correct 
 

3) 

A. idea 

B. plan 

C. pact 

D. secret 

E. Correct as is 

 

4) 

A. manage 

B. facilitate 

C. hinder 

D. mollify 

 

 

 

 

 

5) 

A. beginning 

B. life 

C. history 

D. formation 

E. adaptation 

F. gazing 

 

6)  

A. interact with one other 

B. interact with one another 

C. interact with each another 

D. All of the above are correct 

E. Both A and C are correct 

F. Both  and C are correct 

 

7) 

A. paucity 

B. abundance 

C. plethora 

D. discrepancy 

E. few 

F. finality 

 

8) 

A. can to be attributed 

B. are being attributed 

C. can be attributed 

D. able to attributed 

E. Correct as is 


